TH2EEENRISFFRAFEER

ZHHIDRE HEAFSHENEER(TH252/138)

=2 & £l ® - 3 — R|BETE |HESEAS|#HETEEN SREY |aBNEEYR
LTEM-BAREI—X (40) 8 6 6 6
A E|1L@EH-B\AESRRI—R (40) 8 6 6 6
BER 30 12 13 13 13
, TARE 40 18 13 13 13
i FH |
HEEIRER 40 18 23 23 20
R 80 24 22 22 22
B oE I XBSH 40 12 5 5 5
HRIREF 40 12 4 4 4
R 40 18 15 15 15
b MESE XS 40 18 13 13 13
mER 40 18 26 26 20
x | EEF 160 45 34 34 34
i:3 | & EXAEF 40 12 17 17 14
EMEEF
bR B EEETHFIUH 920 36 21 21 21
INAA BT
I\ EB|&aH-Emia—X (40) 18 22 22 20
LER-AEI—X (40) 24 34 34 24
E W d FKIY-NaAF 80 32 35 35 32
1FwRT VA 40 18 22 22 20
B T 2 H 80 32 27 27 27
BT IER 40 16 15 15 15
= L T %fﬁliﬂ 40 16 12 12 12
ES IR 80 32 26 26 26
BETEH 40 16 30 30 16
TARIT=H 40 16 8 8 8
B 80 40 47 47 40
= U & %fﬁfﬁ%ﬁﬂ 40 18 18 18 18
KEH 80 40 33 33 33
TRERAL IR T} 80 40 36 36 36
= 0 F H.Jﬁ_ﬁ%ﬂ 160 48 50 50 50
FER 40 14 26 26 15
= W R|EEM-BARFEI—X (40) 12 26 26 14
= W | AR EFEa—X (40) 8 6 6 6
= P|EER-FEI—R (30) 18 21 21 18




TH2EEENRISFFRAFEER

ZBEHORE HEAFSHENEER(FH252/138)

=2 % £l ® - 3 — R|BETE |HESEAS|#HETEEN| DREY |aBNEEYR
I AR == 160 45 37 37 37
X M| EEE-FHRI—R (40) 12 12 12 12
4} E|EER 40 18 18 18 18
R 40 16 11 11 11
BT 40 16 21 21 18
BRE 40 16 13 13 13
B OE I =gz 40 16 22 22 18
TRIRER 40 16 19 19 18
IT=# 30 12 17 17 14
THAU - EFE 40 20 29 29 20
RBRRFER 80 40 52 52 40
= @ om % %f%%%ﬂ 40 20 15 15 15
KEHE 40 20 23 23 20
1BERANIEF 40 20 28 28 20
*x K| ERE3RF 120 40 22 22 22
= fiE] | EER - AXXFEI—X (40) 12 18 18 14
& E|EmE-BEI—R (40) 16 19 19 18
BERFEH 20 8 5 5
5K = 5?5%%4%%4 20 8 6 6
EDRRFE 40 18 22 22 20
HEERALR 40 18 10 10 10
HetmE 80 32 23 23 23
R I EBRHE 40 16 1 11 1
BFH 40 16 16 16 16
EERE 30 12 26 26 14
m W & FREEER 30 12 17 17 14
f=ReeF 30 15 15 15 15
a EEES 40 18 35 35 20
a | 27#K62% % 3190 | 1,245| 1274| 1274| 1,118

(Gk2) ZRBOBZA
ELTWNAT=6 ., 2745625 Rl L7155,

GCE1) ZEEED( )FEEHOFEEREDARERLTND,

PREEZFER(EVMEER-EXTHAUR-/NAFRMBE) I2DOVTIE, 3FH




TH2EEENRISFFRAFEER

LHEIDRE HBAFSRANEER(HM2E27138) (KFEH)

X =2 Fl 2| mErE |eEse a|eEsmey| SREYK [snnzan
1 & Rl 390 136 170 170 138
TER(BRa—R)| - - - - -
ET@EFM(a—X )| @ a3 70| @170 (138)
# ® ®# % B - — - — -
= 53 F 150 52 48 48 36
B E 7 170 68 56 56 53
7K 23 ¥ 60 26 32 32 26
T £ £l 1,070 420 394 394 357
i) ¥ il 680 328 362 362 313
ES E ® 120 48 50 50 44
5 il 40 14 26 26 15
& il il 30 15 15 15 15
“ & =2 ESh 480 138 121 121 121
a | 3190 1,245 1274 1274 1,118
(8%  FHINEEAFEER)

X = # 2| sers |wEseia|ersmsy| SREYK [snnzan
x & Rl 430 160 163 163 148
TaER(BFRa—R)| — - - — —
ETER(O3—R )| 430)] (160)] (163)] (163)] (148)
72 % B2 %F M - — - — —
E3) R M| 150 50 31 31 31
B - il 170 68 51 51 44
7K E # 60 26 21 21 21
T e R 1,030 404 364 364 330
7 e Rl 680 328 330 330 298
3 E & 120 48 55 55 49
5 & # 40 14 36 36 15
fa il R 30 15 15 15 15
#w ) =2 ESh 440 133 133 133 111
=) B 3150 | 1,246 | 1,199 1,199 | 1,062




TH2EEENRISFFRAFEER No.!

RIFRER

2HHIDRE HEAZFNEEEREEAR—E(THN252/13H)

EBAZNE
@ &le B - 2 — z| mmea | EEAE e
R i %&éf” =
A = | EEE 160 12 148
T (ERER 30 13 17
ETEF 120 — 120
& FHEARHE 40 13 27
HERIRER 40 20 20
il E[EER 160 — 160
AL 80 22 58
f E I EIESH 40 5 35
ERIRER 40 4 36
ZEF 80 — 80
& i HER 40 15 25
EE X 40 13 27
EER 40 20 20
+ M| REEE 160 34 126
TER 120 — 120
i W Sy i i 5%
EYEER
b R® B EEETHIUHR 90 21 69
INAABIE
J\ EB|EER 160 20 140
= 1] o[ EEE 160 — 160
EER 200 — 200
= m B2 Ak h=y oy
BHFER 80 — 80
AXteiEFH
EER 200 — 200
= | BFEEEER]
SR L Y 80 - 80
AX#tEi e
EER 120 24 96
= W o4t = L@ (AFI—R) (40) (24) (16)
S IVNASE R 80 32 48
ERTFAUR 40 20 20
i T 2R 80 27 53
EFHEM IR 40 15 25
- EREIFE 40 12 28
= W T Ko 50 56 5
BETSFH 40 16 24
+ RITZF 40 8 32
JUEREER 80 40 40
= E R EFR 40 18 22
I P 5 33 i
TEHRLIER 80 36 44
= V& | BEER 160 50 110
=0T A i i 5i
= " i%iﬁﬂ 240 14 226
TER (BAREFI—X) (40) (14) (26)
= i mEEE 240 6 234
= Pl EEH 230 18 212
h LER (FFE1—X) (30) (18) (12)




TH2EEENRISFFRAFEER

2HHIDRE HEAZNEEERKEEAR—E(THN252/13H)

e 1 | EBAZRE
2 ® & B - o3 - 2 g | EEAE N
BRER | pabw %m?w e

I AL ] 160 37 123
N M| EEE 120 12 108
= | EEH 120 — 120
d = EEZS! 40 18 22
LZEFE 200 — 200

= i HEERZER]
B R 80 - 80

AX &R 2

e 40 11 29
B WAL 40 18 22
B 40 13 27
= M I E|E5H 40 18 22
T RIRER 40 18 22
I=# 30 14 16
THAL GEF 40 20 20
ERER 80 40 40
= EIEE R 40 15 25
R OE Rz 0 50 50
BEIRANIER 40 20 20
X K|EERRE 120 22 98
= fi#] EEE 160 14 146
= | ZEF 160 18 142
LZEF 120 — 120
BERSR 20 5 15
ik RlEfREH 20 6 14
EDRAR 40 20 20
HEREAE 40 10 30
L KIEEE 200 — 200
WL 80 23 57
B R I EEEE 40 11 29
BEFFH 40 16 24
ZEF 160 — 160
= mz|EEE 30 14 16
LR 30 i T
AR 30 15 15
53] L TEER 32 — 32
LZEF 160 — 160
A Ej]ﬁé'ﬁ#ﬂ 40 20 20
a it 34%x82%F %} 6,662 1,118 5,544

CE)SRIDEREHDRAIZDONT
@ 1EXMLRART HEBRI—RIT, EBERORAMELTRL, ZFREUZEANLLY,
Q HREEXESROEMEER-BETHIUR- NAFRMRHT. SFREMZD,

Q@ B, EUPHER. SEERORERHZR L. BHHEREANMEHE

HOBHTHY., 22HELTVS,

LLE & Y341822 R E1 D,
@ HABKEERITOVTIE. ZEEEDIL5RERELEEDORITANELT B,

No_.2
BT AR ER



